Stock buyback program Information

Date: 14/12/2021

Bolsa Mexicana de Valores, S.A.B. de C.V., informs:

STOCK EXCHANGE CODE

PINFRA

NAME OF THE COMPANY

PROMOTORA Y OPERADORA DE INFRAESTRUCTURA,

S.A.B. DE C.V.

DATE OF THE OPERATION

RESOURCES REMAINING

13/12/2021

Up to the last Report	7,414,232,222
Currently	7,405,605,229

OPERATION FOR EACH OF THE SERIES

SERIES *

BROKERAGE GBM

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	380,123,523	16,036,969
To the present Report	0	380,123,523	16,093,163

OPERATION

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
32291	BUY	134	\$152.62	\$20,451	EQUITY
32292	BUY	366	\$152.65	\$55,870	EQUITY
32293	BUY	295	\$152.66	\$45,035	EQUITY
32294	BUY	603	\$152.67	\$92,060	EQUITY
32295	BUY	167	\$152.68	\$25,498	EQUITY
32296	BUY	1,034	\$152.70	\$157,892	EQUITY
32297	BUY	500	\$152.72	\$76,360	EQUITY
32298	BUY	772	\$152.75	\$117,923	EQUITY
32299	BUY	974	\$152.79	\$148,817	EQUITY
32300	BUY	185	\$152.85	\$28,277	EQUITY
32301	BUY	201	\$152.86	\$30,725	EQUITY
32302	BUY	22	\$152.89	\$3,364	EQUITY
32303	BUY	115	\$152.91	\$17,585	EQUITY
32304	BUY	107	\$152.92	\$16,362	EQUITY
32305	BUY	245	\$152.93	\$37,468	EQUITY
32306	BUY	305	\$152.94	\$46,647	EQUITY
32307	BUY	56	\$152.95	\$8,565	EQUITY
32308	BUY	178	\$152.97	\$27,229	EQUITY
32309	BUY	406	\$152.98	\$62,110	EQUITY
32310	BUY	226	\$152.99	\$34,576	EQUITY
32311	BUY	2,434	\$153.00	\$372,402	EQUITY
32312	BUY	112	\$153.01	\$17,137	EQUITY

32313	BUY	625	\$153.02	\$95,638	EQUITY
32314	BUY	745	\$153.03	\$114,007	EQUITY
32315	BUY	1,166	\$153.04	\$178,445	EQUITY
32316	BUY	22	\$153.05	\$3,367	EQUITY
32317	BUY	174	\$153.06	\$26,632	EQUITY
32318	BUY	5	\$153.07	\$765	EQUITY
32319	BUY	538	\$153.08	\$82,357	EQUITY
32320	BUY	587	\$153.09	\$89,864	EQUITY
32321	BUY	933	\$153.10	\$142,842	EQUITY
32322	BUY	231	\$153.11	\$35,368	EQUITY
32323	BUY	162	\$153.12	\$24,805	EQUITY
32324	BUY	141	\$153.13	\$21,591	EQUITY
32325	BUY	452	\$153.14	\$69,219	EQUITY
32326	BUY	385	\$153.15	\$58,963	EQUITY
32327	BUY	250	\$153.17	\$38,293	EQUITY
32328	BUY	748	\$153.18	\$114,579	EQUITY
32329	BUY	133	\$153.20	\$20,376	EQUITY
32329	BUY	1,085	\$153.21	\$166,233	EQUITY
32331	BUY	258	\$153.21	\$39,533	EQUITY
32332	BUY	293	\$153	\$44,899	EQUITY
32333	BUY	306	\$153.25	\$46,895	EQUITY
32333	BUY	616	\$153.25 \$153.26	\$46,895 \$94,408	EQUITY
	BUY	294	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	
32335			\$153	\$45,061	EQUITY
32336	BUY	90	\$153	\$13,795	EQUITY
32337	BUY	835	\$153.29	\$127,997	EQUITY
32338	BUY	124	\$153.30	\$19,009	EQUITY
32339	BUY	442	\$153.31	\$67,763	EQUITY
32340	BUY	1,205	\$153.33	\$184,763	EQUITY
32341	BUY	75	\$153.34	\$11,501	EQUITY
32342	BUY	826	\$153.35	\$126,667	EQUITY
32343	BUY	542	\$153.36	\$83,121	EQUITY
32344	BUY	157	\$153.37	\$24,079	EQUITY
32345	BUY	188	\$153.39	\$28,837	EQUITY
32346	BUY	21	\$153.40	\$3,221	EQUITY
32347	BUY	103	\$153.41	\$15,801	EQUITY
32348	BUY	230	\$153.43	\$35,289	EQUITY
32349	BUY	345	\$153.44	\$52,937	EQUITY
32350	BUY	985	\$153.45	\$151,148	EQUITY
32351	BUY	100	\$153.46	\$15,346	EQUITY
32352	BUY	1,190	\$153.48	\$182,641	EQUITY
32353	BUY	8	\$153.49	\$1,228	EQUITY
32354	BUY	106	\$153.50	\$16,271	EQUITY
32355	BUY	142	\$153.51	\$21,798	EQUITY
32356	BUY	168	\$153.52	\$25,791	EQUITY
32357	BUY	295	\$153.53	\$45,291	EQUITY
32358	BUY	105	\$153.54	\$16,122	EQUITY
32359	BUY	15	\$153.55	\$2,303	EQUITY
32360	BUY	308	\$153.56	\$47,296	EQUITY
32361	BUY	338	\$153.57	\$51,907	EQUITY
32362	BUY	466	\$153.58	\$71,568	EQUITY
32363	BUY	272	\$153.61	\$41,782	EQUITY
32364	BUY	507	\$153.62	\$77,885	EQUITY
32365	BUY	775	\$153.63	\$119,063	EQUITY
32366	BUY	368	\$153.64	\$56,540	EQUITY
J_JUU	וטם	300	ψ100.04	ψJU,J4U	LQUIT

32368	BUY	404	\$153.68	\$62,087	EQUITY
32369	BUY	107	\$153.69	\$16,445	EQUITY
32370	BUY	1,150	\$153.70	\$176,755	EQUITY
32371	BUY	235	\$153.71	\$36,122	EQUITY
32372	BUY	111	\$153.72	\$17,063	EQUITY
32373	BUY	100	\$153.73	\$15,373	EQUITY
32374	BUY	331	\$153.74	\$50,888	EQUITY
32375	BUY	111	\$153.75	\$17,066	EQUITY
32376	BUY	196	\$153.76	\$30,137	EQUITY
32377	BUY	443	\$153.77	\$68,120	EQUITY
32378	BUY	283	\$153.78	\$43,520	EQUITY
32379	BUY	213	\$153.79	\$32,757	EQUITY
32380	BUY	288	\$153.80	\$44,294	EQUITY
32381	BUY	206	\$153.81	\$31,685	EQUITY
32382	BUY	680	\$153.82	\$104,598	EQUITY
32383	BUY	322	\$153.83	·	EQUITY
	BUY			\$49,533 \$77,074	
32384		501	\$153.84 \$153.85	\$77,074	EQUITY
32385	BUY	175	\$153.85	\$26,924	EQUITY
32386	BUY	528	\$153.86	\$81,238	EQUITY
32387	BUY	243	\$153.87	\$37,390	EQUITY
32388	BUY	516	\$153.88	\$79,402	EQUITY
32389	BUY	1,101	\$153.89	\$169,433	EQUITY
32390	BUY	239	\$153.90	\$36,782	EQUITY
32391	BUY	328	\$153.91	\$50,482	EQUITY
32392	BUY	65	\$153.93	\$10,005	EQUITY
32393	BUY	541	\$153.94	\$83,282	EQUITY
32394	BUY	130	\$153.95	\$20,014	EQUITY
32395	BUY	418	\$153.96	\$64,355	EQUITY
32396	BUY	169	\$153.97	\$26,021	EQUITY
32397	BUY	489	\$153.98	\$75,296	EQUITY
32398	BUY	186	\$153.99	\$28,642	EQUITY
32399	BUY	8,063	\$154.00	\$1,241,702	EQUITY
32400	BUY	1,464	\$154.01	\$225,471	EQUITY
32401	BUY	581	\$154.02	\$89,486	EQUITY
32402	BUY	988	\$154.03	\$152,182	EQUITY
32403	BUY	1	\$154.04	\$154	EQUITY
32404	BUY	612	\$154.06	\$94,285	EQUITY
32405	BUY	399	\$154.08	\$61,478	EQUITY
32406	BUY	168	\$154.09	\$25,887	EQUITY
32407	BUY	43	\$154.14	\$6,628	EQUITY
32408	BUY	416	\$154.20	\$64,147	EQUITY
32409	BUY	105	\$154.22	\$16,193	EQUITY
32410	BUY	50	\$154.24	\$7,712	EQUITY
32411	BUY	55	\$154.25	\$8,484	EQUITY
32412	BUY	65	\$154.29	\$10,029	EQUITY
32413	BUY	310	\$154.35	\$47,849	EQUITY
32414	BUY	100	\$154.44	\$15,444	EQUITY
32415	BUY	256	\$154.45	\$39,539	EQUITY
32416	BUY	34	\$154.46	\$5,252	EQUITY
32417	BUY	80	\$154.50	\$12,360	EQUITY
32418	BUY	175	\$154.51	\$27,039	EQUITY
32419	BUY	67	\$154.57	\$10,356	EQUITY
32420	BUY	100	\$154.66	\$15,466	EQUITY
32421	BUY	151	\$154.67	\$23,355	EQUITY
J474 I	וטם	101	ψ104.01	ψευ,υυυ	LWUIII

SERIES L

BROKERAGE

BALANCES

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	49,416,058	1,397,823
To the present Report	0	49,416,058	1,397,823

OPERATIONS

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
-------	-------------------	---------------------	-------------------	--------------------------	--------------